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Q.No: 1  Viticulture and pisciculture are related to which among the following respectively?

2426889
SRR Y A IR Tl urert e PR & @ Rl dafia 82
Cucumber, Silk farming
A
FEHY, TWH T Tt
Grapes, Fish farming
B
SR, ASl e
Pineapple, Cotton
C
S, HUN
Mangoes, Yak farming
D

3T, AT HFt
Correct Ans : B

Subject : General Knowledge

Q.No: 2 Which of the following architecture style is not found in 'Fatehpur Sikri'?

2426920
Frofafea # 3 o- = 3eft waeR ded § 16T aE und 82
Persian
A
BRH
Central Asian
B
e QR
Indian
C
URdT
Gothic
D
M

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Which of the following was not a part of kingdom of Harshavardhana?

2426940
T & 4 S-a1 gad & Tsa @1 fewar T ar
Western Punjab
A
aftyedt deme
Magadha
B
Y
Bengal
C
S

D Eastern Punjab
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gdf dore
Correct Ans : A

Subject : General Knowledge

Q.No: 4 The main architectural features of Dharmaraja Rath (Pallava period) does not include
2426952

RIS XY (Ued HIeT) BT YA WG fawarsit # it e 1
Dharmaraja Rath is a monolithic structure.
A
RIS Y T SRES TR 8
Its base is square but tower is pyramidal.
B
TSI YR THR § A HHR Riftregm 21
The tower has five tiers and a large stupa in the top of the spire.
o
TR i Wt SRR & 2 R 0w werww R
The Ratha is adorned with magnificient sculptures.
D

X Y Yo ARFAT § T T B

Correct Ans : C

Subject : General Knowledge

Q.No: 5 ‘Mask’ is a prominent feature of which of the following dance?

2427008
Foafafaa & 9 frg 7o 9t vge ke ARe (TR g2
Chakri Dance
A
o4 T
Chhau
B
EXRD
Chari Dance
C
a7
Kachchi Ghodi
D

Eike S
Correct Ans : B

Subject : General Knowledge

Q.No: 6  The girls dress up as peacocks in which of the following dance forms of Tamil Nadu?
2427020

il 3 Q@ afe g & g 7o A F Tsfhar 9R @1 a2 yRo HRaA 82

MayilAttam
A

A

PampuAttam
B

wgsEH

Mohiniyattam
c

gz

Bharatnatyam
D

WRAATSEH

Correct Ans : A

Subject : General Knowledge
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Q.No: 7  Who is the first player to win a gold medal in Commonwealth Games?

2427501
FHIETI TR H UEe @0l Ued St ara faerst S 87
Laxmikant Pandey
A
efieid usa
Rashid Anwar
B
ARG TR
Milkha Singh
C
Ty Ris
KD Jadhav
D
F o

Correct Ans : C

Subject : General Knowledge

Q.No: 8  Which of the following statement is wrong?

2427506

0 % B w1 T T 82

India has won a total of 35 medals in the Olympics so far.
A

YR 3 SiafiE 3§ o °F Fo 35 TS oid )

India has won a total of 10 gold medals in the Olympics so far.
B

YR 3 NARIF B 3T 96 Fa 10 T UG o §|

India has won a total of 09 silver medals in the Olympics so far.
C

URd 3 iR A 39 GF o 09 oI IS o

India has won a total of 18 bronze medals in the Olympics so far.
D

URd A e | o 96 $a 18 ST UGS Wi g
Correct Ans : D

Subject : General Knowledge

Q.No: 9  Which of the following items India imports from the Oil and Petroleum Exporting Countries (OPEC)?

2428891
Frofafea ¥ § $F 9 o%g YRd aa IR FARmH fafae 2 (3te) | S Far g2
Capital Goods
A
bPeiucksitic]
Fertilizer
B
EEicd
Petroleum
C
T
Electric Machines
D

Fofes wi
Correct Ans : C

Subject : General Knowledge

Q.No: 10 What was the position achieved by India by winning a total of three medals in the Asian Table Tennis Championships 2021 held in Doha, Qatar?
2430501

G, PR § S TR eu o AR, 2021 # YR A O O Ued SiagR B 91 RIF Ui fam a2
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A Third
R
Fourth
B
Gt
Fifth
C
LIEC
Sixth
D
BS

Correct Ans : C

Subject : General Knowledge

Q.No: 11  What is the "Basel" laws related to?

2434051
verga frem e awifa o7
Vehicle engine related
A
AT & FoF e
Recapitalization of Public Sector Banks
B
WHR & F Tt F gl
Safety of women
[
afterel @ e
Relating to employers of banks
D

ot & Friaroll & wwaifda

Correct Ans : B

Subject : General Knowledge

Q.No: 12 In which year was the Madhya Pradesh Tulsi Academy formed?

2441040

T Y ekl renredit B 73 g av o mar ur?

1980
A

1980

1983
B

1983

1987
c

1987

1991
D

1991

Correct Ans : C

Subject : General Knowledge

Q.No: 13 Haddu and Hassu Khan are associated with the -
2441055

7eg AR TG W frus Ty g3 gu d?

Indore Gharana

FER WA

B Singrauli Gharana
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Ryt e

Gwalior Gharana
C

IR TR

Bhopal Gharana
D

AT TR

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Simhastha is held in Madhya Pradesh in a cycle of every _______ years.
2441077
RewmA R A TS 99 & 9% F smifoa fwar o 21
2
A
2
6
B
6
8
C
8
12
D
12

Correct Ans : D

Subject : General Knowledge

Q.No: 15 Which of the following is the main gate of Chanderi Fort known as?

2441356

s & 9 928 5o &1 7o gR 59 we o 82

Kati Ghati Darwaza
A

el Ul ERars

Khooni Darwaza
B

Gt g

Hawa Pur Darwaza
C

BT YR &XaTel

Badal mahal gate
D

q15d Ted T
Correct Ans : B

Subject : General Knowledge

Q.No: 16 Where is Jahaz Mahal located?

2441376
STeiY HE e RUd §?
Mandu
A
g
Pench
B
I

C Orchha
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st
Bhopal

At

Correct Ans : A

Subject : General Knowledge

Q.No: 17 Delhi-Mumbai Industrial Corridor (DMIC) will not pass through -

2441648
-z e TR (7. o ) & 4t g
Neemuch
A
RiEl
Ratlam
B
XAaH
Bhind
C
firs
Badwani
D
sgartt

Correct Ans : C

Subject : General Knowledge

Q.No: 18 Madhya Pradesh has all of the agro climatic zones of the country. How many are they?

2441657
T o B 4 & ot PN Sy &7 €1 3 A §2
11
A
11
14
B
14
17
c
17
9
D
9

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Which district of Madhya Pradesh is also known as ‘Urjanchal’?

2441670
A W & [ a1 Fefaar & 09§ +ff S S 22
Indore
A
R
Sidhi
B
Qe
Singrauli
C
Rt
Ratlam
D
X

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Orient Paper Mill in Madhya Pradesh is located at-

2441684
Tie ew # Sffvde IR e @ 3 -
Hoshangabad
A
BTIETE
Damoh
B
A
Sidhi
C
Rifg
Shahdol
D
RES)

Correct Ans : D

Subject : General Knowledge

Q.No: 21 Ron loved swimming, and one day he challenged Ross to swim miles with him next day, they completed the race, but in the fire of competition, Ron gulped a large amount of
2422816 rjyer water and fell ill. He was diagnosed with Swimmer’s ear. What could be the reason behind it?

I B IRAT 9 TG AT IR U@ &7 I 19 B FA f 5 a5 oFmel ot 39 Iy Hielt &R 9, S < O 1 Afe ufaaef &Y ot #1 9 A 3t wEn § 7 &1 o e forn oiR R ws
TN IR IRIB & HH &1 Tl T ATl T9P 9D T SR G Wbl 81

River water was untreated.

A

At T U SRR Ul

River water was salty
B

6 1 o @R o

River water was odourless
C

) T UFf T ot

River water was very cold
D

& PT UFR 9gad o1 T
Correct Ans : A

Subject : General Science

Q.No: 22 How many litres of water, on an average should a human consume to keep himself/herself hydrated?

2422825

T P FRT T B Y I Y S e ek T 1 S e TR

2 litres
A

29

5 litres
B

5 diex

2.5 litres
C

2.5 fiex

3.5 litres
D

3.5 diX

Correct Ans : D

Subject : General Science

Q.No: 23 Sublimation is a process that is carried out during the water cycles in which:
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2422833

FsauIaa a1 T Ui § S o 9% & R @1 it g for:

Solid changes to liquid
A

e O B e

Solid changes to solid
B

319 & 31 uRad

Solid changes to gas
C

A 3 F wewar

Liquid changes to solid
D

R 3N H e g
Correct Ans : C

Subject : General Science

Q.No: 24 The disease dengue is caused by which type of virus?

2422990
S o vy & Ry g 37
Corona virus
A
BRIAT G
Influenza virus
B
TR T
Adeno virus
C
T arre
Flavi virus
D
FfdarRY

Correct Ans : D

Subject : General Science

Q.No: 25 Swine flu is caused by which virus?

2422992
TS U Y ARy % BRI €l 87
HIV
A
TR
Influenza A virus (H1N1)
B
FUGUT ¢ IR (H1N1)
Corona virus
C
PR A
Ebola virus
D
TR AR

Correct Ans : B

Subject : General Science

Q.No: 26 One of the most important symptom of rabies disease is-
2422997

el 1 & e wewayyl wall F § U -
A Acrophobia
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Reauaitn)

Acrophilia

T

Hydrophobia

St (STRSIHIET)

Hydrophilia

FERIRaG]

Correct Ans : C

Subject : General Science

Q.No: 27  Which among these is not a food crop?

2428011
T ¥ $N U5 T HEa o1 87
paddy
A
U
vegetable
B
wosht
wheat
C
g
peanut
D
et

Correct Ans : D

Subject : General Science

Q-No: 28 Which of the following is not the characteristic of monocotyledonous plants?

2428025
frfafed & § o1 tedaw el 1 fadar 79 82
floral parts in a group of three
A
I & g ® g U
cotyledons provide nourishment.
B
oot S SR T
long and narrow leaves
C
wide and broad leaves.
D

=it SR faga uRRmii
Correct Ans : D

Subject : General Science

Q.No: 29 Who proposed the four-kingdom classification?

2428779
TR-TT TR 1 wRaE e faare
E.H heckle
A
£ . 3P
R.H. Whittakerds
B

IR R
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Carolus Linnaeus

IR RiFer

Aristotle

SR
Correct Ans : B

Subject : General Science

Q.No: 30 Which one of the following is called plant-animal?

2428810
Frafifed & 4 3 weu-SIMaR @e Sl 82
Euglena
A
A
Amoeba
B
apfta
Algae
C
Jara
Planaria
D
TR

Correct Ans : A

Subject : General Science

Q.No: 31 Which of the following projects will you not run in relation to environmental conservation?

2429003
31 wfaRvr WRevr & Wdy F Fafafed § § o1 @ uRdsmr T aagi?
We all should try to give back what we are taking from the Earth.
A
TR A TR I Fo AR ¥ ST I 3 31 W T AR
We should not use more green energy.
B
& aiftre aRa el 1 S e e =R
Save the non-renewable fuels.
Cc
IR-Tdevita e B T9d BRI
We can run projects like - Save water, Be vegetarian, etc.
D

T Tioipe 90 Thd § O - T Seiel, JeTeRt &, Sty

Correct Ans : B

Subject : General Science

Q.No: 32 Water pollution is caused due to the contamination of water body like

2429013

ST UGHY Wit (IR & gRd §H $ RO Gl § O

River water
A

& @1 et

Rain water
B

S

Tap water
C

Tl BT U

D Underground water

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

forT o
Correct Ans : A

Subject : General Science

Q.No: 33 Which one is odd regarding the modes of infection and the preventive measures against fungal diseases are

2429016
AU F WP IR G A F Gers FaRe Iu F R § $H 91 o6
Fungal infections are caused by a variety of fungal species.
A
T s FaftT R @ e St 3 o S 81
The fungal infection is spread mostly through the spores.
B
Tl WA STGTaR Srenged & Ao & S 81
Spores can be transmitted by air, water, and soil.
C
iy gar, e ok gt gRT SaRa e o wwa §1
Infections cannot spread by direct contact with the infected person.
D

TeHHOT WebTra Skt b WA Wb F o F 7 S wepa|

Correct Ans : D

Subject : General Science

Q.No: 34 Microbes are tiny microscopic organisms that cannot be seen with the

2430047

YeASTT B AT TITRR ¥ I A S o uwar §

Closed eyes
A

Open eyes
B

T o

Naked eyes
C

3

Blue eyes
D

et affE

Correct Ans : C

Subject : General Science

Q.No: 35 is porous, black, and the purest form of coal.
2430078

RSN, I SR S ST 69 s FY Bl

Coke
A
Loy
Coal Tar
B
Fd aR
Anthracite
C
LeltiEs
Bituminous
D

fogforra

Correct Ans : A

Subject : General Science
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Q.No: 36 P is the brother of Q. R is the son of S. T is the daughter of P, is married to U. V and S are sisters to one another. Then how is V related to R?

2422453
PLQFUERIR STIGIRIT,PHIGHE, U RaiRa j1v ok s to gt s {1t v, R 9 o voR aiftra 72
Sister
A
Ergl
Aunt
B
At
Mother
C
i
Mother -in-law
D

s
Correct Ans : B

Subject : General Reasoning

Q.No: 37 M, N, O and P are family members. M and N are the sons of A. O is the wife of M and mother of T. P is the wife of N. Who is the aunt of T?

2422475
M, N, O R PIRGR & TG §I M M N, AF T EI O, M T Tell 3 3R T 1 A1 31 P, N Tt Telt B1 T ) It o @2
P
A
P
M
B
o
c
0
N
D
N

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422588
2, 12, 30, 56, 85, 132, 182, 240
gl | TTed $HH PT gl Ta?
2, 12, 30, 56, 85, 132, 182, 240
56
A
56
85
B
85
132
c
132
182
D
182

Correct Ans : B

Subject : General Reasoning
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Q.No: 39 Find the wrong term in the series?

2422608
2,8, 14, 24, 34, 48, 64
el | TTed H BT Ul Te?
2,8, 14, 24, 34, 48, 64
48

A
48
14

B
14
64

[

64
8

D

8

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424513

SR Weg T T BT

Inch
A

B

Pound
B

LI

Meter
C

Hiex

Feet
D

B

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425647
39 S # Py &1 gem 9 i
17

A
17

GET IT ON
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19

16
C

16

18
D

18

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426294

ABZY : CDXW :: EFVU : ?

I 3HeR-TUE BT 9T HY ol TR HeR-U0E Y I THR Gafiid § S GO SfeR-UE, TR SisR-Tgg § W 7

ABZY : CDXW :: EFVU : ?

1JRQ
A
LIRQ
KLPO
B
KLPO
MNST
c
MNST
GHTS
D
GHTS

Correct Ans : D

Subject : General Reasoning

Q.No: 43 Select the option /number which is related to 31 number in the same way as 224 number is related to a

2426394 |4 number?
5:-3527:7
30 T [faweT & 99 Y S Sl dE ¥ 3 R §atd § S gul §Ear gger
T ¥ weRa § |
5:-3527:7
-56
A
-56
-70
B
-70
-63
C
-63
-91
D
-91

Correct Ans : C

Subject : General Reasoning

Q.No: 44

Tazears Select the option /number which is related to 3" number in the same way as 224 number is related to a

18t number?
3:260x:7?
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3W TEAT [AHeT H TIT S A SAT TEAT F 3 THR FEOT § A9 @I FEAT Tl

e @ w1
3:26:0x:?
x=-1

A
x=-1
x2 -1

B
x2 -1
x3 -1

c
x3—-1
x"—1

D
x"—1

Correct Ans : C

Subject : General Reasoning

Q.No: 45 1In the diagram, which number shows the people whose favourite fruit is only mango?
2426559

O = Favourite fruit Banana
A = Favourite fruit Mango

|:| = Favourite fruit Apple

RE B B W Tem 37 anll Y < 8 e widier wa Haa oM 82

7

Correct Ans : B

Subject : General Reasoning

Q.No: 46 In the given diagram, A=10, B=6, C=7, D=4, E=5 and F=2. Circle represents the person who can write English. Rectangle represents the person who can write Hindi and
2426604 Triangle represents the person who can write Bengali.
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How many persons can write all the three languages?

few e 3@ #, A=10, B=6, C=7, D=4, E=5 3IR F=2| Iq I A o1 Ul Far ¢ St 3FIoh forg e 1 simra 39 oiaa o1 faffiia oean & of ) fora e § ok By 39 afaa
BT yiaTIa Sar & S Sl g g 81

A el 31 e afea g w9 §7
5

10

10

7
Correct Ans : D

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429535
ABCD: ADIP :: CDEF: ?
I fAaed T 799 I o R T8 A ST TR Hald § O g Ug Ued UG ¥ Hefd §
ABCD: ADIP :: CDEF: ?
CHOX
A
CHOX
CDEF
B
CDEF
CHOZ
C
CHOZ
COHX
D
COHX

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Pointing to Arnav, kajal said, “He is the son of my father’s only son,” how is Arnav mother related to kajal?

2429574
3uig B 3R IR IS §U BIo A Hgl, "dg WX T & sHeld O 1 9F 8" 3(via Bt Arar Frora & 57 IpR Geiftra g2
Aunty

A
3ie

B Mother-in-law
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Rk

Sister-in-law

C
-l
Mother

D
AT

Correct Ans : C

Subject : General Reasoning

Q.No: 49  Which answer figure will complete the pattern in the question figure?

2433196

>

B W IW PR vy rpfay T T &) @ Hwie

(30
\Q .

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.
2433492

P

I 3Pfd Y T5aH B S Jed 31 Q- Bl ¢
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X

o] XX X I X

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434887
82:6::71:7?
I fached BT 799 B S R T § IW yHR Jf 3 SN gudt S, ueeh e @ wefa )
82:6::71:7
2
A
2
9
B
9
7
C
7
6
D
6

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440181 g logically consistent with the main statement.
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If you meet the requirement, you can apply for the post.

A. You met the requirement
B. You applied for the post
C. You did not meet the requirement

D. You did not apply

o T gy H 4@ HF SR IS 918 TR HUA F| Y BT BT GH T, 6T Ugd HYT B IR IR HYF I 7, AR & FYF Aifdd FY ¥ T FUF ¥ W 3
IR T R WG, A H TR g

A, T TR @

B. ¥ @I wAr 01

C. #Y @ 7 @

D. T R &Y <5 o1

AB
A

AB

BA
B

BA

AD
C

AD

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440213 ¢ [ogically consistent with the main statement.

If she drives car, she does not break traffic rules
A. she drove the car

B. she did not drive car

C. she does not break traffic rules

d. she broke break traffic rules

T 1Y vy F T FA SR IS 18 IR BYA | FUAT BT HiET FH I, T8 U B BT A GER B 9 B, IR € B i T F g8 YA F T B
3R I8 PR JaK g, I 36 I ¥ Tel drsal A. I IR TqTS

B. S BR T Tas

C. 9% gramrd fFam T dredh

D. 39 A I Fag

AC
A

AC

BC
B

BC

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440260 4 |ogically consistent with the main statement.

If there is decline in the production of oil, there will be shortage of supply.
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A. there is decline in the production of oil

B. there is no decline in the production of oil
C. there was shortage of supply.

D. there was no shortage of supply

fow T gy H @ H SR IUF 916 IR BUA §| YT BT BT G T, 6T Ugd HYF BT ded R YA I 7, R & FUF qfdd FY Y T FUT Y A 7
afe; 9 & Iare # frae st g, < smufd & @ g

A. 09 & Iared # fiRmae 8

B. 3% % IaTeA # F1 fRe T8 3

C. omyf 3t Bt ot

D. 3mgfd & B et LT ot
BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441954

DHK : MIF :: TFW : ?

I e o1 707 HX o AW ug § I vR Weiia ¥ o THR gERT Ug Ugd Ug  HEd § |

DHK : MIF :: TFW : ?

YGV
A

YGV

YHV
B

YHV

YHU
C

YHU

YGU
D

YGU

Correct Ans : A

Subject : General Reasoning

Q.No: 56 ¢ e 9 _2 -
3422338 Simplify: 200x 100 - 20+ 1000+ 10

TR DI 200 x 100 —20+1000+ 10

150
A

150

140
B

140
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C 190
190
180
D
180

Correct Ans : D

Subject : General Maths

Q.No: 57 gimplify: 39 +[17- {13 + (16— 13)}]

2422363
TRA DI 39+ [17- {13 +(16-13)}]
30
A
30
40
B
40
50
C
50
80
D
80

Correct Ans : B

Subject : General Maths

Q.No: 58 Mahesh deposited Rs.8780 with a finance company for 2 years at an interest of 8% per annum. What is the compound interest that Mahesh gets after 2 years?

2423600
TR 7 U {39 SUN F G 2 T F T 8% Ui I F S W 8780 I I fHUI WeW I 2 a9 SIE fara Iwafer sl iy 87
Rs.1460.992

A
Rs.1460.992
Rs.1451.456

B
Rs.1451.456
Rs.1780.781

C
Rs.1780.781
Rs.1893.742

D
Rs.1893.742

Correct Ans : A

Subject : General Maths

Q.No: 59
2423615 Mohini took aloan of Rs.51700 against her insurance policy at the rate of 16§ % per annum. Calculate

the total compound interest payable by Priyanka after 2 years.

AT ¥ 51700 wfa af 16§% T X { 3T AT TifeT & f&eT® o forar) MR ganrT 2
aut & arg & Fel IHGTE ST T A0TAT &Y |

Rs.18468.5325

Rs.18468.5325
Rs.24567.1267

Rs.24567.1267

R el Ta T
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c K3.071£.9407

Rs.8912.6289
Rs.1287.8907

Rs.1287.8907
Correct Ans : A
Subject : General Maths

Q.No: 60 Solve:

2428580
[400 +~ 40 + 464 + 4 -200of 5 + (7890 + 10 - 25 of 30 + 18 - 13)]
HEas
[400 +~ 40 + 464 + 4 - 5120 + (7890 + 10 - 30 &1 25 + 18 - 13)]
70
A
70
72
B
72
=72
C
=72
80
D
80

Correct Ans : A

Subject : General Maths

Q.No: 61 Average age of three boys is 20 years. If the ratio of their ages is 2:3:5 then the age of the youngest boy is?

2432520

I aet ot 3fd 3mg 20 o §1 T ITHT S BT 3T 2:3:5 B, A TOG SIS TSP I A T2

19 years
A

19 9§

15 years
B

15 9§

9 years
C

o 7§

12 years
D

12 9§

Correct Ans : D

Subject : General Maths

Q.No: 62 57 x 57 + 27 x 27 - 2 x 57 x 27 is equal to?

2434686
57 x 57 + 27 x 27 = 2 x 57 x 27 &1 A 4 B
800
A
800
636
B
636

C 900
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900

954

954
Correct Ans : C

Subject : General Maths

Q.No: 63

2434736 1¢ % =(2-+3] , then the value of x3 — 2x2 — 7x + 5 is

-qﬁ X=(2'V§) ’ _E‘ﬁ:aaxs_2x2—7x+5$[]:":{%

2
A

2

1
B

1

0
C

0

3
D

3

Correct Ans : C

Subject : General Maths

Q.No: 64 0.7 + 0.V% S
2434766 XY +0yX = =
If 9thenx+y="2?

0.xy +0.yi:§
i 9%?ﬁx+y=?

15
A

15

10
B

10

20
C

20

5
D

5

Correct Ans : D

Subject : General Maths

Q.No: 65 Minku earned a profit of 20% after allowing a discount of 40%. Marked price is what per cent more than the cost price?

2435211
40% P g B AR F 916 fiig 7 20% FT A FAMN Hfd Ted an Ieg S T gfowd offde 37
60%
A
60%
75%
B

nos
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sV /e

C
50%
100%
D
100%

Correct Ans : D

Subject : General Maths

‘22-4'\;‘;2%61 An article is sold at 20% profit. Ifits cost price is increased by 50 and at the same time if its
selling price is also increased by 30, the percentage of profit decreases by 3%% then the cost
priceis

Ueh ] DI 20% WTH W <01 711 G I 9] 1559 Hed Rs. 50 9 WY 3R fdsva vjea ofi 31
mm&oa‘«;maﬁmm;%mémaamwm

851
A

851

852
B

852

850
C

850

853
D

853

Correct Ans : C

Subject : General Maths

Q.No: 67 If there is a loss of 20% after selling an item for Rs 44, then in what price will it be sold to get a profit of 10% ?
2435291

Ife et avg BT 44 0 & 99 & 91E 20% Y A N B, N 10% &1 A U A & o I g F S= o

Rs 60
A
60 3T
Rs 60.5
B
60.5 ¥0
Rs 50
o
50 39
Rs 55.5
D
55.5 30

Correct Ans : B

Subject : General Maths

.No: 68 3 3
34307469 When g7z = 0.4908, then the value of {770

3
3 LA
od 511z = 0.4908 Fh 0.0006112 PT HHSTIT‘T?F}‘
49.08

49.08
B 4908.9
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4908.9

4908
C

4908

4.908
D

4.908

Correct Ans : C
Subject : General Maths

Q.No: 69  Which of the following is the largest fraction?

2437489
Py & S a1 v ¥ B 32
Z
12
A
.
12
1_0
9
B
E
9
2
B
[
9
3
3
10
D
=2
10

Correct Ans : C
Subject : General Maths

Q.No: 70 . erick ’ Ly 7 i i Lin .
5437549 In a sports academy, half of boys play cricket, one-fourth (4 ) play tennis, one-elghr.h(; ) play

table tennis, one-sixteenth (1—15‘!‘) play baseball and remaining go for swimming. If the number of
boys playing tennis is 160, how many boys go for swimming?

Hmsdi%m(i) STETd Gad § AR b 1! B 8| e e Jem ard asdi at
MIso%,ﬁ%?Wﬁaﬂ%ﬁﬁ%asﬁﬂlﬁ%?

120

120
80

80
20

20
40

40
Correct Ans : D

Subject : General Maths

Q.No: 71 If in a symbolic language ‘TABLE’ is written ‘GZYOV'’ then ‘JOICE’ will be written in the same language as?
2422538
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T fait Wichfam woT & "TABLE' &1 'GZYOV' foraT e & df 'JOICE' &1 It vt # forar wmem foraf?

023F)
A

0ZIF)

QFRXV
B

QFRXV

HOFAD
C

HOFAD

QZHMT
D

QZHMT

Correct Ans : B

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘COLD’ is written ‘DPME’ then ‘CHINA’ will be written in the same language as?

2422568
Ife; fpeft Wihfae HTor & 'COLD' HT 'DPME' @1 ST “CHINA' &1 It w1 # ferem smem for?
DHIMB
A
DHIMB
DIKMB
B
DIKMB
DIJOB
c
DIJOB
DUPBM
D
DUPBM

Correct Ans : C
Subject : Mental Ability

Q.No: 73 - Tn a row of 20 students, A is 9 from right end. Then find the rank of A from left end.

2425586
20 B U Ui # A T BR Y 9F WA W 21 @ a1 BR I A T ¥F 710 Fifvee
35
A
35
36
B
36
37
c
37
38
D
38

Correct Ans : A

Subject : Mental Ability

Q.No: 74 If REASON is coded as 5 and BELIEVED as 7, what is the code number GOVERNMENT?
2426504

If REASON &1 5 % &Y & 3R BELIEVED &1 7, & ¥ § e a1 ol §, & GOVERNMENT &1 §e 48 &1 32
6
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B
8
9
Cc
9
10
D
10

Correct Ans : C
Subject : Mental Ability

Q.No: 75 Identify the set for the word HEARL.

2426534

T HEARL % iU Wel axed &1 ugar i

57163
A

57163

75163
B

75163

75198
c

75198

57193
D

57193

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II)}. You have to consider the statements to be true even if they seem to be at
2430219 yarjance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: The manager humiliated Priya in the presence of her colleagues.
Conclusions:
I. The manager did not like Priya.

II. Priya was not popular with her colleagues.

Pufifaa vl §, 1 oo < Fsed 1, 11 37 SR 6Ra 8§ SUH! S SY W IR SAT 8, HA € 4 SMHAR W Trd aedt § welld 817 @il | sy g R e ey % ofe e g1 o 3eT Tam
E2g

Y AR 7 i ) Su% Jeplifdl @1 diveh # srmifid far
e

1. AR 9 fivar wig =

11. forn 3 Fehiial & o i el ot

Only conclusion I follows

A
e Py I SgeRl Bl §
Only conclusion II follows
B
Yl Py 1T SFTORUT Bl B
Either I or II follows
C
T X AT LT TR el §
Neither I nor II follow
D

T 1 R A II TR HRedl §
Correct Ans : D

Subject : Mental Ability
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Q.No: 77

In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at

2430248 yariance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Adversity causes a person to be wise.
Conclusions:
1. Poor and wise people are wise.

II. Man learns from wise experience.

Pofafaa wsil 3, <1 oy S Fresyd 1, 11 97 SFRRU 6Ra 8 3! ST FUAI W TR S 91, 4 8 9 3mdR W Trd audll § wlid 89 @il simue! By Ry e s % 3l fed ) A ST 3w
Ezg

Y TGl A I gREHE S 81
frep:

1. 9 3R gaE @ gfigHE 81 8
faha. 7w S ergya @ Wi R

Only conclusion I follows

Faa Prepd 1 3R FRa §

Only conclusion II follows

e Py 1T TR0 ST &

Either I or II follows

1A 1 47 IT SR B §

Neither I nor II follows

T 1 R A 11 TR HRA B

Correct Ans : B

Subject : Mental Ability

Q.No: 78

In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance

2435461 oy commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:
1. All apples are grapes.
II. All onions are grapes.
Conclusions:
1. All grapes are apples.

II. Some onions are apples.

= 3w gy F < o SR IEF a1E < s 18R 11 AT w1 st faT T St 3 W AFAT ], A1) d IHERe: 9Id ot 3 i vl g 7, siu g e @ % o e e F o
1 frendf @i T4 F TR FRar B

P
L. et A9 SR Fl

11, o o iR F
e

L. 3 ofR ¥9 Bl

11. $ oS 99 €1

Only conclusion I follows.

o Py 1 3Ry S B

Only conclusion II follows.

Fad ey 11 SR B

Both conclusions I and II follows.

Rl PPy I @R 11 3R ¥d 8

Neither conclusion I nor II follows.
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T e 1 3R T € 11 SrgeR R 21
Correct Ans : D
Subject : Mental Ability

Q.No: 79 Two statements are given, followed by four conclusions numbered I, II, III and IV. Assuming the statements to be true, even if they seem to be at variance with commonly
2435521 ypown facts, decide which of the conclusions logically follow(s) from the statements.

Statement:All pros are cons.
All cons are loss.

Conclusions:I. No loss are cons.
II. No cons are pros.

III. No loss are pros.

1V. All pros are loss.

& Yl F a1g IR s 1, 11, 11 6iR 1V RE e ) R T S &Y U T Y, Hd 8 9 SR W I 9l & ury feRer ava €, ae Polg @ i e w1 sy e e st o aifde wud
SRR T B

P :

oft U, 1 8l

ot B, AN g
e ¢

1. B 99, B T
I1. B B, W T B
IIL. ST A, g = 31
v. o+t T, 9 g

Only conclusion (III) follows

Fad ey (111) SR Pl

Only Conclusion (IV) follows

e Fspd (1V) SIERU BRaT ¥

Conclusion (I) and (II) follow

e (1) 9R (11) TR0 BYa §

Only conclusion (I) follows

e e (I) SRRV el §
Correct Ans : B
Subject : Mental Ability

g;"\;"szss‘& In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
J<C=T2U=2R=N
Conclusions:
I. N<C
II.U >
fFATaad 93T &, HU=T & arg fovay 8T 71w §)
U 97T T & HUR R 5w 37 7eag+ S AT 39 3eo & §9 & 39Gad [q@med & 997 B
ExicH
J<KC=TzU=z2R=N
e
I. N<C
IILU>)
Only conclusion I is true
A
Faa Y 1 9
Only conclusion II is true
B
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LILIISE LUNILIUSIVIE 4 Ul 11 1D L uUT

iiRe o B g Rk

Neither conclusion I nor II is true

Tl RTDIITTR

Correct Ans : D

Subject : Mental Ability

Q.No: 81

3438565 In the following question, the statements are followed by conclusions. Study the conclusions based on the

given statements and select the appropriate option as your answer.
Statements:

M2J=K<LEN>0

Conclusions:

I.O<K

I.L.M>L

Al e #, FU=t & arg forvad G 7T §)

U 9T ST & HTUR TR AR &7 JHeTTT B AT 39 3eal & §9 & 39gad fawed & a9 F
Fy:

M2J=K<L<N>O

forsa:

I.O<K

ILM=>L

If only Conclusion I is true

A
Faa fred 1 9 §
If only Conclusion II is true
B
¥ ey 11 99 7
If either Conclusion I or II is true
C
gafedianaas
If neither Conclusion I nor II is true
D

TR dRAST I TR
Correct Ans : D
Subject : Mental Ability

(22&";08:58924 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>M>Q>Z>N
Conclusions:
I.M>2Z
I. NP

Al e &, FU=! & alg foTsad fGU 7T g

U 9T ST & HTUR 91 TTShY @7 37egdet Bl AT 39 3ol & &9 F 39gad fahed & a8 B
Fue:

P>M>Q>Z>N

forsd:

LM22Z

ILN<P

Only Conclusion I follows

Excitea b ki Ed

Only Conclusion II follows

Pad =y 11 TT§

C Either Conclusion I or II follows
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g fd 1w 9w g

Neither Conclusion I nor II follows

A I RTRIITTR

Correct Ans : B

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439080 from commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some points are important.

All questions are important.
Conclusions:

I. Some important are questions.

II. Some questions are points.

12 e g vy F <) T A SuF uHd ) ey 1w 11 AU e 1 o AT T S @Y W AN 7, WAt €Y 98 wdard @t | v Tt 8 8 91 Bl & SMTUR TR SIS S(UAT SR S R |
FY:

7w fiig wewyd 71

ot uy meeayef 1

s

1. 3% eyl uy &

I T© U 3% B

Only conclusion II follows

A
Fraa e IT SrgeRY e &
Only conclusion I follows
B
Fad Fpy 1 SR FRar §
Neither conclusion I nor II follows
C
) Fepef 1 3R T €1 11 SRR el §
Both conclusions I and II follow
D

s 1 3R 11 ST SERT FR 7
Correct Ans : B
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442667

(1) Egypt

(2) Africa

(3) Great Pyramid

(4) World

(5) Giza

FEfiRa 2edl 1 Ueb difhe Ud 1efq0f s § HaiRud i
1. i

2. 3BT

3. I s

4. fay

5. Titen

3,5,2,1,4

3,5214
3,51,24

3,5,1,2,4
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53,1,2,4

53124
53,142

53,142
Correct Ans : B

Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442676
1. Accident

2. Ambulance

w

. Rash Driving

4, Injury

w

. Hospital

(=2}

. Treatment

Frafafea wedl @ adgul aur wde w0 ¥ wrafya Sif:
1. gl

2. T

3. e M =TAHT

4, e WA

5. Sregara

6. QUER
3,1,2,4,5,6

3,1,2,4,5,6

3,4,1,2,5,6

3,4,1,2,5,6
3,1,4,25,6

3,1,4,2,56

3,1,4,2,6,5

3,1,4,2,6,5
Correct Ans : C
Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 4?

2427590
Frafifea & 4 o 4 3 Rvea 82
87651
A
87651
89012
B
89012
98293
o
98293
76123
D
76123

Correct Ans : B

Subject : General Aptitude

Q.No: 87 In the figure, find 2PQR, if O is the centre of the circle and 2POR = 60 degree.
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2431335

pOR

fo & 2PQR, T1d PR 3R} O I BT F= 3R 2POR = 60 M &1

ol
Py

X

120°
120°

135°
135°

150°
150°

105°
105°

Correct Ans : C

D

Subject : General Aptitude

Q.No: 88 If a train runs with a speed of 48 km/h, it reaches its destination late by 12 minutes. However, if its speed in 64 km/h it is late by 3 minutes only. The right time for the train
2435975 5 cover its journey (in minutes) is:

afe B 27 48 frrlly/der Y iy & Terch }1 Al 98 oruR vider wH W 12 e 38 & uged §1 afk a8 64 vl der @ 1y & 9 @ W 3 e 9 &8 § ugEd 21
T B 39 A 79 B 1 GE wHyg (e ) B1

18
A
18
22
B
22
20
C
20
24
D
24

Correct Ans : D

Subject : General Aptitude

Q.No: 89 A man walks 1 km on 1st day, 2 km on 2nd day, 3 km on 3rd day and so on. The total distance the man covers in 10 days is -
2436005

T sfd ugd o 1 . g § g o 2 et Teran 8, R R 3 . T @ o 3t v o off T a1 §1 aagt ¥ 10 R A 97 ot g@ @@ s

40 km
A
40 foi.
50 km
B
50 fah.
55 km
C
55 f&h.
58 km
D
58 fat.

Correct Ans : C
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Subject : General Aptitude

Q.No: 90 The speed of train A is 25 km/h more than the speed of train B. A takes 4 hours less time to travel a distance of 300 km than what train B takes to travel 250 km. What is
2436015 the speed (in km/h) of A?

A B IR T B F R Y 25 ken/h ST F1 27 B GRT 250 km B gl 79 HA H a1 907 T r B, A B 300 km @1 G 7 IR J ST 4 4 HH A G,
@AM (ken/h By T2
60

60
50

50
65

65
55

55
Correct Ans : B

Subject : General Aptitude

g‘.‘rxl306:°9119 Walking ; of his usual speed, a person reaches his office 10 minutes later than the usual time.

His usual time in minutes is:

U <qfa 9=l QAT aify $r §nﬁ‘;#m§vmm#mm# 10 ﬁmzafmqgaw%l FET
@mmmmm#%

28

28
30

30
25

25
35

35
Correct Ans : C

Subject : General Aptitude

Q.No: 92 Excluding stoppages, the speed of a bus is 160 kmph and including stoppages, it is 120 kmph. For how many minutes does the bus stop per hour?

2436052
TRl 3 B W U 79 B Ma 160 5.1 /51 3R favredi &1 firene w9 3 1fq 120 7.4 /59e1 §1 99 vlq der fran e St §2
12
A
12
15
B
15
18
o
18
20
D
20

Correct Ans : B
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Subject : General Aptitude

Q.No: 93 A, B & C alone complete a work in 15, 20 & 30 days. All together start the work. After 4 days A left the work next after 4 days B left the work. Rest work done by C & they got
2436074 Rs. 4200 for whole work. Find the share of B.

A, B4 C 5l o Y 15, 20 9 30 R § 9% Fwa §1 9 G B TE FRA T 4 A 916 A 19 DI T B 9 4 A 1% B H19 1S A 81 AW B C Rl 71 I T HY 4200 ¥, FH F
i €1 B &1 few FaRe?

1680
A

1680

1840
B

1840

1850
C

1850

1845
D

1845

Correct Ans : A

Subject : General Aptitude

Q.No: 94 Sashi can do a piece of work in 20 days. Tanya is 25% more efficient than Sashi. The number of days taken by Tanya to do the same piece of work is:

2436122
I 5 T B 20 A H HR T 31 AR I 25% S & §1 98 B A fem e F gy el
15
A
15
16
B
16
18
c
18
25
D
25

Correct Ans : B

Subject : General Aptitude

Q.No: 95 A and B can complete a work in 18 days. One of them can do the same work in 27 days. B is more efficient than A. If for completing the work they are paid Rs.1629, then
2436131 fnd A's share. (in rupees.)

A SR B TF o &I 18 fall # g1 % Uad ¥l S0 I Ue 39 F1 1 27 fa H o) U1 31 B, A ¥ o g 7| A} 9% I O A & AU 1629 ¥ &1 Y7 far S g1 A F
fowr 3ra &%) (39 )

543

543
1086

1086
814.5

814.5
643

643
Correct Ans : A

Subject : General Aptitude
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Q.No: 96 If the six digit number 4x4y96 is divisible by 88, then what will be the value of (x + 2y)?
2436144

BT P B S 4x4y96 If3 88 F AU B, @ (x + 2y) &1 A o1 e

13
A

13

12
B

12

10
C

10

11
D

11

Correct Ans : A

Subject : General Aptitude

Q.No: 97 If the seven digit number 74x29y6 is divisible by 72, then what will be the value of (2x + 3y}?

2436147
T 7 Sl @ GBI 74%29y6, 72 ¥ Ui § o (2x + 3y) BT AR T gI?
21
A
21
19
B
19
16
c
16
20
D
20

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The difference between the greatest and least five-digit numbers formed by the digits 2, 5, 0, 6, 8 is (repetition of digits are not allowed) -

2444612

2,5,0, 6, 8 3@ ¥ & o ety el 9 IO IR G SIS TS B 3R 2 (3] B TRIGRT A TG ) -

69552
A

69552

65925
B

65925

65952
c

65952

63952
D

63952

Correct Ans : C

Subject : General Aptitude

Q.No: 99  If the sum of a number and its reciprocal be 2, then the number is—
2444613

afe; Te G SR IUH gehH BT AN 2 B, 6 98 GO ©-
A 0
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[+}

1
B

1

-1
C

-1

2
D

2

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (*?’) in the following number series?
2444658

8, 15, 64, 407, 2808, ?

Frfafea dem o # U B 2’ & RIF W 1 310

8, 15, 64, 407, 2808, ?

19615
A

19615

18646
B

18646

19216
C

19216

19212
D

19212

Correct Ans : A
Subject : General Aptitude
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